Inverse Function Practice

1) What does f (x) mean? .
2) Writea situation that would have a domain of {1,2,3,4,5} and a range of {20,

40,60,80,100}- Identify the dependent and independent variable.

Find an equation for the inverse relation.

3. y=x+l 4. y=5x B. y=2x—13

8. y=—x+6 7. y=%x+4 8. 7"%"‘%3

For questions»?-B; find f(x) +g(x)

For questio ,‘Q(flzn;l f(2) and g(32)
For question 10-17, find f(x)-g(x)
For question 12, ktare at it and be glad that you do not need to know how to do\this fora

few more years.

C?- f=x+agx=x—4 | | ® f(x)=7x;g(x)=%x

\8. ﬂx)=x5;£(x)=‘s/i \‘& ﬂx)=2x-4;g(x)=-'ix+2
\% foy=3-xg@=3"* H f(x)=x’+5,x20;g(x)=\f£?_§
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